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ઉમદેવાર ેનીચેની સૂચનાઓનંુ પાલન કરવાની તકેદારી રાખવી, અլયથા વાંધા-સૂચન અગં ેકરલે રજૂઆતો իયાને 
લેવાશે નહી ં
(1) ઉમદેવાર ેવાંધા-સૂચનો િનયત કરવામાં આવેલ વાંધા-સૂચન પԋકથી રજૂ કરવાના રહેશે.
(2) ઉમદેવાર ેԐՇԐમાણે વાંધા-સૂચનો રજૂ કરવા વેબસાઈટ પર Ԑિસիધ થયેલ િનયત વાંધા-સૂચન પԋકના નમૂનાનો જ 

ઉપયોગ કરવો.
(3) ઉમદેવાર ેપોતાને પરીԟામાં મળેલ ԐՇપુિչતકામાં છપાયેલ ԐՇԃમાંક મુજબ વાંધા-સચૂનો રજૂ ન કરતા તમામ વાંધા-

સચૂનો વબેસાઈટ પર Ԑિસիધ થયેલ Ԑોિવઝનલ આլસર કી (માչટર ԐՇપԋ)ના ԐՇ ԃમાંક મુજબ અને તે સંદભӪમાં 
રજૂ કરવા.

(4) માչટર ԐՇપԋ માં િનિદӪ Ջ ԐՇ અને િવકճપ િસવાયના વાંધા-સૂચન իયાને લેવામાં આવશે નહી.ં
(5) ઉમદેવાર ેજ ેԐՇના િવકճપ પર વાંધો રજૂ કરલે છે અને િવકճપ ԁપે જ ેજવાબ સૂચવલે છે એ જવાબ ઉમેદવાર ેપોતાની 

ઉԱરવહીમાં આપેલ હોવો જોઈએ. ઉમેદવાર ેસચૂવલે જવાબ અને ઉԱરવહીનો જવાબ િભՂ હશે તો ઉમેદવાર ેરજૂ 
કરલે વાંધા-સચૂન իયાનમાં લવેાશે નહી.ં

(6) એક ԐՇ માટે એક જ વાંધા-સૂચન પԋક વાપરવુ.ં એક જ વાંધા-સચૂન પԋકમાં એકથી વધાર ેԐՇોની રજૂઆત કરલે
હશે તો તે અંગેના વાંધા-સચૂનો իયાને લવેાશે નહી.ં 
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001. {kunU-òu-ËzkuLke Lkøkh h[LkkLkk MktË¼o{kt, ®MkÄw MktMf]ríkLkk ¾kuËfk{Lkk «ýuíkk yuðk fkuLkku yk {wsçkLkku yr¼«kÞ Au ?

‘{kunU-òu-ËzkuLkk þnuheykuLku hnuðk {kxuLkkt rðþk¤ yLku Mkw¾ Mkøkðz¼Þko {fkLkku íkÚkk MkwtËh MLkkLkkøkhkuLke MkkÚku íkw÷Lkk
fhe þfkÞ íkuðwt fþwt «køkiríknkrMkf fk¤Lkk r{Mkh, {uMkkuÃkkuxkur{Þk fu Ãkrù{ yurþÞk{kt õÞktÞ nkuÞ yuðwt ykÃkýe òý{kt
LkÚke.’

(A) ©e {kÄkuMðYÃk ðíMk (B) zkp. Ône÷h

(C) òìLk {kþo÷ (D) [kÕMko {MkoLk

002. {kunU-òu-Ëzku{ktÚke {¤e ykðu÷k ‘ÃkkþwÃkík {nkuh’Lkk MktË¼o{kt Lke[uLkk Ãkife fÞwt ðkõÞ ¾kuxwt Au ?

(A) {nkuh{kt ÃkÈkMkLk{kt çkuXu÷k ºký ®þøkzkðk¤k {wøkx Ãknuhu÷k Ëuðíkk òuðk {¤u Au.

(B) Ëuðíkk [khu íkhV ÃkþwykuÚke ½uhkÞu÷k Au.

(C) s{ýe íkhV nkÚke, ðk½ yLku zkçke íkhV økUzk yLku ¼UMk Au.

(D) ËuðíkkLkk ykMkLk Lke[u ºký nhý Au.

003. fÞk Mkqºk{kt MkkrníÞ{kt Þ¿kku, r¢Þkfktz, çkr÷ rðøkuhuLke [[ko fhðk{kt ykðe Au ?

(A) øk]ÌkMkqºk (B) ©kuíkMkqºk

(C) Ä{oMkqºk (D) WÃkhkuõík ík{k{{kt

004. ðuËfk¤{kt hkòLku hkßÞðneðx{kt Mk÷kn Mkq[Lkku ykÃkðk íkÚkk hksMk¥kk WÃkh ytfwþ {kxu ‘Mk¼k yLku Mkr{rík’ çku MktMÚkkyku
níke. su MktË¼o{k Lke[uLkk Ãkife fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

1. íku sLkíkkLkk «ríkrLkrÄykuLke çkLku÷e çku MktMÚkkyku níke.

2. fux÷efðkh ‘Mk¼k’ ßÞwheLkwt fk{ Ãký fhíke.

3. ‘Mkr{rík’{kt hksfeÞ, Mkk{krsf yLku ÄkŠ{f «&™kuLke Ãký [[ko Úkíke níke.

4. ‘Mkr{rík’Lke Mkh¾k{ýeyu ‘Mk¼k’ rðMík]ík MktMÚkk níke.

(A) Võík 1 yLku 2 (B) Võík 2 yLku 3

(C) Võík 1, 2 yLku 3 (D) 1, 2, 3 yLku 4

005. çkkiæÄ EríknkMk ÃkhtÃkhk yLku MktMf]ríkLkk MktË¼o{kt Lke[uLkk Ãkife fÞk òuzfk Mkk[kt Au ?

1. íkktçkku {X yLku {trËh ÃkrhMkh  –  MÃkerík ½kxe

2. ÕnkuíMkð ÷¾ktøk {trËh, Lkkfku  –  òMfh ½kxe

3. yÕðe {trËh ÃkrhMkh  –  ÷Æk¾

(A) Võík 1 (B) Võík 2 yLku 3

(C) Võík 1 yLku 3 (D) WÃkhkuõík ík{k{

006. økwshkíkLkk ðLk{nkuíMkð ytíkøkoík MkktMf]rík ðLk yLku íkuLkk MÚkkLkkuLku ÞkuøÞ heíku òuzku.

 MkktMf]ríkf ðLk                MÚkkLk

1. ÃkwrLkík ðLk a. ytçkkS

2. {ktøkÕÞ ðLk b. Yÿ{kíkk zu{ MkkEx, fåA

3. hûkf ðLk c. ykuZð, y{ËkðkË

4. szuïh ðLk d. Mkuõxh-18, økktÄeLkøkh
(A) 1 - d,  2 - a,  3 - b,  4 - c (B) 1 - a,  2 - b,  3 - c,  4 - d
(C) 1 - c,  2 - a,  3 - d,  4 - b (D) 1 - b,  2 - d,  3 - a,  4 - c
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007. rðrðÄ Zçku Ãknuhkíke Ãkk½zeyku Ãkife, ÃknuhLkkhLkk {Míkf WÃkhktík yÄko ÷÷kx-«ËuþLku ykðhe ÷uíke fÞk «fkhLke Ãkk½ze
MktçktrÄík «ËuþLke ykøkðe yku¤¾ký fhkðu Au ?

(A) yku¾k «ËuþLke yktxeÞk¤e Ãkk½ze (B) økkUz÷Lke [kt[ðk¤e Ãkk½ze

(C) çkhzkLke ¾qtÃkkðk¤e Ãkk½ze (D) {kuhçke - {åAw fktXkLke #Zkuýe ykfkhLke økku¤{xku¤ Ãkk½ze

008. ‘¼ðkE’ yu Lk]íÞ LkkxâLkku økwshkíke «fkh Au íku s heíku íkkr{÷Lkkzw hkßÞLkk rðrþü ÷kufLkkxâLku .......... fnu Au.

(A) Lkðxtfe (B) Mðktøk

(C) íkuhfwxq (D) Þ¿k¿kkLk

009. Mkkihk»xÙLke rðrðÄ «ò (¿kkríkyku) Ãkife, fE yuðe ¾{ehðtíke «ò Au, ßÞkt Mºkeyku{kt ½q{xku LkÚke ?

(A) ykneh (B) MkkuhrXÞk ykneh

(C) {uh (D) ÞkËð

010. ‘nwze÷k’ þwt Au ?

(A) çkLkkMkfktXk rðMíkkhLkwt þkiÞoøkkLk (B) çkLkkMkfktXkLkwt ÷kufLk]íÞ

(C) {uh ÷kufkuLkwt Lk]íÞ (D) ÃkZkh ÷kufkuLkwt Lk]íÞøkeík

011. Mkkihk»xÙ{kt ÚkE økÞu÷ Mkíke MkkæðeykuLke ÞkËe-I Lku íku{Lkk Mk{krÄ MÚk¤Lke ÞkËe-II MkkÚku ÞkuøÞ ¢{{kt økkuXðku

 ÞkËe-I     ÞkËe-II

1. òuÄe çkk a. ytòh

2. Mkeíkk{kíkk b. Ãkhçkðkðze

3. y{hçkkE c. ÃkeÃkkðkð

4. íkkuh÷ d. rþnkuh
(A) 1 - d,  2 - c,  3 - a,  4 - b (B) 1 - b,  2 - c,  3 - d,  4 - a
(C) 1 - d,  2 - c,  3 - b,  4 - a (D) 1 - c,  2 - d,  3 - a,  4 - b

012. ¼khíkeÞ MktøkeíkLkk «k[eLk økútÚkku{kt ðkãkuLkk Lke[u {wsçkLkk [kh «fkhku ËþkoÔÞk Au. ÃkhtÃkrhík ÷kufðkã ‘MkwhtËku’ yk «fkhku
Ãkife fÞk «fkhLkwt ðkã Au ?

(A) íktíkw ðkãku (B) yðLkã ðkãku

(C) Mkqr»kh ðkãku (D) ÄLk ðkãku

013. økwshkík{kt ¢ktríkfkhe [¤ð¤Lkk «Úk{ Lkuíkk yh®ðË ½ku»ku .......... Lkk{Lkk ÃkwMíkf{kt ¢ktríkLke ÞkusLkk yk÷u¾e níke.

(A) Ërûkýk (B) ¼ðkLke {trËh

(C) økw÷kçkLkku rfhMkku (D) fMkhík

014. Mktøk{ MkkrníÞLke fE yuf f]rík{kt yZkh sux÷k LkkLkk LkkLkk fkÔÞkuLkku Mktøkún Au, fu su Ãkife {nkfrð ríkYðÕ÷wðhLkku ‘fwh÷’
Lkk{u fkÔÞMktøkún LkkUÄÃkkºk Au ?

(A) íkku÷ fkÂÃÃkÞ{ (B) ÃkËeLkuLfeÕzkLk fwt

(C) ÃkrËxwÃÃkkxw (D) þe÷ÃÃkËefkh{T

015. ykçkw WÃkh siLk {tºke rð{÷ þknu çktÄkðu÷ ‘rð{÷ðMkrn’ íkÚkk ðMíkwÃkk¤u çktÄkðu÷ .......... Lkk{u Ëuðk÷Þku çkkhef rþÕÃkku
{kxu søkrðÏÞkík Au.

(A) yrøkÞkhe (B) ðMkrn

(C) rsLkk÷Þ (D) ÷wýøk ðMkrn
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016. {nkðehu WÃkËuþu÷k Ä{o - siLk Ä{oLke [kh ¼kðLkkyku{kt Lke[u sýkðu÷ fE çkkçkíkLkku Mk{kðuþ ÚkkÞ Au ?

1. Mkðo «rík «u{ yLku {iºke¼kð fu¤ððku.

2. E»kko Lk fhðe.

3. ËeLk Ëw:¾e fu yLkkÚk «íÞu fkhwÛÞ fu¤ððwt.

4. WÃk¼kuøk {kxu ÃkËkÚkoLke {ÞkoËk hk¾ðe.

5. Mkuðk ûk{kLkku ¼kð fu¤ððku.

(A) Võík 1, 2, 3 yLku 5 (B) Võík 1, 2, 4 yLku 5

(C) Võík 1, 3, 4 yLku 5 (D) Võík 2, 3, 4 yLku 5

017. çkwæÄLkk ÃkrhrLkðkoý çkkË íku{Lkk yLkwÞkÞeykuyu çkwæÄLkk yðþu»kku ðk¤, Ëktík, yÂMÚk, hk¾ rðøkuhuLke M{]rík yLku Ãkqò {kxu
yðþu»kkuLku ÄkíkwÃkkºk{kt {qfe íku WÃkh ytzkfkh E{khík h[ðkLkku ykht¼ fÞkuo, yuðe E{khíkku fÞk Lkk{u yku¤¾kÞ Au ?

(A) [iíÞku (B) MíkqÃk

(C) rþ÷k Míkt¼ku (D) «kÚkoLkk øk]nku

018. økwÃík hkòyku ÃkkuíkkLku ÄkŠ{f árüyu fÞk Lkk{u yku¤¾kðíkk níkk ?

(A) Ãkh{ ¼èkhf (B) Ãkh{ rþð

(C) Ãkh{ ¼køkðík (D) Ãkh{ ði»ýð

019. Lke[uLkk þçËku fÞk EríknkMkfkh îkhk Wå[khðk{kt ykðu÷ níkk ?

“søkíkLkk yLkuf Mk{úkxku, [¢ðíkeoyku íkÚkk Mkk{tíkku{kt yþkufLkwt Lkk{ yuf íkusMðe íkkhkLke su{ Íøk{øku Au. yksu Ãký
ðkuÕøkkÚke øktøkk MkwÄeLkk «Ëuþ{kt íkuLkwt Lkk{ yLku fk{ ÷kufkuLku rðrþ»x «uhýk ykÃku Au.”

(A) zkp. ykh. Mke. {sw{Ëkh (B) ©e yu[. S. ðuÕMk

(C) ©e fkþe«MkkË sÞMðk÷ (D) zkp. f]»ýMðk{e ykÞtøkh

020. zkp. ÂM{Úk yLku yLÞ EríknkMkfkhku fÞk Mk{úkxLku ‘®nËLkku LkuÃkkur÷ÞLk’ fne rçkhËkðu Au ?

(A) Mk{wÿøkwÃík (B) [tÿøkwÃík çkeòu (rð¢{krËíÞ)

(C) fw{khøkwÃík (D) MftËøkwÃík

021. økwÃík Þwøk{kt rð¿kkLkLkk ûkuºku Lke[uLkk{ktÚke fE f]rík {nkLk økrýíkþkMºke yLku ¾økku¤þkMºke ðhkn r{nehLke LkÚke ?

(A) çk]níMktrníkk (B) çk]níòíkf

(C) ÞkuøkÞkºkk (D) çkúñfqx rMkæÄktík

022. n»ko ¼khíkLkk EríknkMk{kt ËkLkðeh hkò íkhefu yku¤¾kÞku Au, íku Ëh Ãkkt[ ð»kuo «Þkøk{kt {kuxe .......... Þkusíkku yLku MkkÄw
Mktíkku rðøkuhuLku ¼tzkhku ¾÷kMk ÚkE òÞ íÞkt MkwÄe ËkLk ykÃkíkku.

(A) íkeÚkoÞkºkk (B) {kuûk Ãkrh»kË

(C) Ä{o Mk¼k (D) {kuûk {rn{k

023. rMkæÄhks sÞ®Mknu {k¤ðkLkk Ãkh{kh hkò Þþkuð{koLku Ãký nhkÔÞku, yLku rðsÞLke M{]rík{kt Lke[uLkk Ãkife fÞwt rçkYË
Äkhý fÞwO ?

(A) {nk{kíÞ (B) {tz÷uïh

(C) yðtíkeLkkÚk (D) {nkhkòrÄhks
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024. hsÃkqík Þwøk{kt MÚkkÃkíÞLkk ûkuºku yLkufrðÄ rfÕ÷kykuLkwt rLk{koý ÚkÞu÷ níkwt. yk ÞwøkLkk Lke[u sýkðu÷ rfÕ÷kyku Ãkife fÞk
rfÕ÷kykuLkku Mk{kðuþ ÚkkÞ Au ?

1. ykMkehøkZ

2. øðkr÷Þh

3. {ktzw

4. [tËuhe

5. hýÚkt¼kuh

(A) Võík 1, 2 yLku 5 (B) Võík 2, 3, 4 yLku 5

(C) Võík 2 yLku 5 (D) ík{k{ 1, 2, 3, 4 yLku 5

025. {wnt{Ë ík½÷fu þY fhu÷ ‘rËðkLku fkune’ þwt níkwt ?

(A) zwtøkhk¤ «ËuþLkk ¾uíkeðkze ¾kíkkLke þYykík

(B) ÷~fhLkk MkkÄLkku ðÄkhe ðneðxeíktºkLku fkÞoûk{ çkLkkððwt

(C) fwËheík ykVíkku Mk{ÞLkwt ¾kMk Vtz

(D) øktøkk s{LkkLke ðå[uLkk V¤ÿwÃk Ëkuykçk «Ëuþ{kt {nuMkq÷ ËhLkku ðÄkhku

026. Ÿ[w íkkÃk{kLk yLku ¾zf MíkhkuLkwt ðÄw Ëçkký, yk çku {wÏÞ Ãkrhçk¤kuLke MktÞwõík yMkhLku ÷eÄu ykøLkuÞ yLku «Míkh ¾zfku
íkÆLk Lkðwt MðYÃk Äkhý fhu Au, ykðk ¾zfkuLku .......... ¾zfku fnu Au.

(A) «kÚkr{f ¾zfku (B) ykã ¾zfku

(C) YÃkktíkrhík ¾zfku (D) yÂøLkf]ík ¾zfku

027. rðrðÄ ¾LkesLkk WíÃkkrËík hkßÞ yLku WÃkÞkuøkLkk MktË¼o{kt Lke[uLkk rðÄkLkku Ãkife fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt
Au ?

1. yçkh¾ fýkoxf, ykurzþk, {æÞ«Ëuþ, {nkhk»xÙ y™u økkuðk{ktÚke {¤u Au.

2. rçknkh yLku Íkh¾tz hkßÞku{ktÚke fku÷Mkku yLku r[hkuze {¤u Au.

3. ¢ku{eÞ{, {UøkuLkeÍ, xtøkMxLk, ðuLkurzÞ{ rðøkuhu r{©Äkíkw YÃku ðÃkhktíkk ¾Lkeòu Au.

4. fku÷Mkku, ¾Lkesíku÷ yLku fwËhíke ðkÞw, ÞwhurLkÞ{, ÚkkurhÞ{ rðøkuhu Mkt[k÷Lk þÂõík {kxu ðÃkhkíkk ¾Lkeòu Au.

(A) Võík 1 yLku 4 (B) Võík 2, 3 yLku 4

(C) Võík 3 yLku 4 (D) Võík 2 yLku 4

028. øktøkk LkËeLkku «ðkn çkktø÷kËuþ{kt .......... Lkk{u yku¤¾kÞ Au.

(A) ¼køkehÚke (B) nwøk÷e

(C) ÃkÈkLkk (D) çkúñÃkwºk

029. 2001 Úke 2011 Lkk Ëþfk{kt ¼khíkLkku ðMíkeð]ÂæÄ Ëh fux÷ku hÌkku Au ?
(A) 17% (B) 17.7%
(C) 52.1% (D) 61.8%

030. ¼khík rðïLkk ¼qr{¼køkLkk fw÷ ûkuºkV¤Lkku fux÷ku rnMMkku Ähkðu Au ?
(A) 2.42% (B) 3.5%
(C) 4.00% (D) 2.00%
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031. {rýÃkwh hkßÞ{kt ykðu÷ {eXk ÃkkýeLkk MkhkuðhLkwt Lkk{ þwt Au ?

(A) ðw÷h (B) r[÷efk

(C) ÷kufíkk÷ (D) çkzkÃkkLke

032. WLkk¤k{kt ¾kMk fheLku {u {rnLkk{kt W¥kh ¼khík{kt yrík økh{ ÃkðLkku VqtfkÞ Au, su .......... íkhefu yku¤¾kÞ Au.

(A) fk¤ ðiþk¾e (B) LkkuðuoMxh

(C) ÷q (D) y÷-LkeLkku

033. ¼khík{kt Mkki «Úk{ íkktçkk økk¤ý WãkuøkLkku yuf{ .......... ¾kíku «MÚkkrÃkík fhðk{kt ykÔÞku níkku.

(A) rçknkhLkk ®MkËhe (B) íkkr{÷LkkzwLkk ÃkkuxkuoLkkuðk

(C) Íkh¾tz{kt ½kxrþ÷k (D) íkkr{÷Lkkzw{kt hkLkeÃkux

034. Lke[u Ëþkoðu÷ {níðLkk yktíkhhk»xÙeÞ ÃkwhMfkhkuLke ÞkËe-I Lku, rðrðÄ fÞk ûkuºk{kt ÃkwhMfkhku ykÃkðk{kt ykðu Au, íkuLke
ÞkËe-II MkkÚku {u[ fhe ÞkuøÞ ¢{{kt òuzku.

 ÞkËe-I                                      ÞkËe-II

1. {uøMkuMku ÃkwhMfkh a. ÃkÞkoðhý / Mkk{kSfLÞkÞ, Ãkºkfkrhíkk, Mkk{wËkrÞf Lkuík]íð

2. ÷kEð÷enwz ÃkwhMfkh b. sLkMkuðk, Mknfkhe Mkuðk

3. xuBÃk÷xLk ÃkwhMfkh c. MkkrníÞ

4. {kLkçkwfh «kEÍ d. Ä{oLke WLLkrík {kxuLkk «ÞkMkku
(A) 1 - b,  2 - a,  3 - c,  4 - d (B) 1 - b,  2 - a,  3 - d,  4 - c
(C) 1 - d,  2 - c,  3 - d,  4 - b (D) 1 - a,  2 - d,  3 - c,  4 - b

035. yuðhuMx Ãkh [ZLkkh rðïLke «Úk{ {rn÷k fkuý níkk ?

(A) çku÷uLxk íkuhu~fkuðk (B) {khøkúux yuçkkux

(C) ÷kõÞk þuhÃkk (D) òwtfku íkuçkE

036. Mkðo{tøk÷k ËuðeLkwt {trËh õÞkt ykðu÷wt Au ?

(A) ¾tzkuMký (B) MkwËkMkýk

(C) íkkhtøkk (D) rMkæÄÃkwh

037. fku÷Mkk{ktÚke {¤íke fux÷ef ykzÃkuËkþku{kt, Lke[uLkk Ãkife fE ykzÃkuËkþkuLkku Mk{kðuþ ÚkkÞ Au ?

(A) zk{h (B) yu{kurLkÞk ðkÞw, yu{kurLkÞk MkÕVux

(C) çkuLÍku÷ íkÚkk ¢wz ykuE÷ (D) WÃkhkuõík ík{k{

038. ‘s¤ ÔÞðMÚkkÃkLk’ ytíkøkoík økwshkík Mkhfkh yLku ¼khík Mkhfkh îkhk fhkÞu÷ ònuhkík MktË¼uo fÞwt / fÞkt rðÄkLk / rðÄkLkku
Mkk[wt / Mkk[kt Au ?

1. Lk÷ Mku s÷ ÞkusLkk ytíkøkoík ykøkk{e Ãkkt[ ð»ko{kt ËuþLkk Ëhuf ½h{kt Lk¤ îkhk ÃkeðkLkwt þwæÄ Ãkkýe ÃkwY Ãkkzðk{kt
ykðþu.

2. økwshkík Mkhfkh ykøkk{e çku ð»ko{kt ykþhu 10,000 fhkuzLkku ¾[o fheLku økwshkíkLkwt yuf Ãký ½h Lk¤ îkhk ÃkkýeÚke
ðtr[ík Lk hnu íku MkwrLkrùík fhðk{kt ykðþu.

(A) Võík 1 (B) Võík 1 yLku 2

(C) Võík 2 (D) WÃkhkuõík Ãkife yuf Ãký Lknª
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039. [k÷w ð»koLkk çksux{kt 4000 zuhe Vk{o MÚkkÃkðkLkku ÷ûÞktf hk¾ðk{kt ykðu÷ Au, su ytíkøkoík «íÞuf Vk{o{kt ykuAk{kt ykuAk
fux÷k ËqÄk¤k Ãkþw nkuðk òuEyu ?
(A) 12 (B) 20
(C) 15 (D) 10

040. ¼khík{kt ykh.çke.ykE. - ¼khíkLke {æÞMÚk çkUfLku Yk. 1 Úke ðÄw hf{Lke [÷ýe Lkkuxku AkÃkðkLkku yrÄfkh fÞk fkLkqLk
ytíkøkoík ykÃkðk{kt ykÔÞku Au ?
(A) rMk¬k yrÄrLkÞ{, 2011 (B) çkUfªøk huøÞw÷uþLk yuõx, 1949

(C) heÍðo çkUf ykuV EÂLzÞk yuõx, 1934 (D) Ãku{uLx yuLz Mkux÷{uLx MkeMx{ yuõx, 2007

041. yÚkoíktºk{kt Lke[u sýkðu÷k LkkýktLkk «kÚkr{f yLku økkiý fkÞkuo Ãkife fÞk fkÞkuo «kÚkr{f fkÞkuo økýðk{kt ykðu Au ?
1. {qÕÞLkk Mktøkún íkhefu
2. rðrLk{ÞLkk {kæÞ{ íkhefu
3. {qÕÞ nMíkktíkhý
4. {qÕÞLkk {kÃkËtz íkhefu
5. rð÷trçkík [qfðýe
(A) Võík 2 yLku 4 (B) Võík 1, 3 yLku 5
(C) Võík 4 yLku 5 (D) Võík 2, 3 yLku 4

042. Mkhfkh©eLke ÞkusLkk yLðÞu ¾uzqíkkuLku Yk. 3/- ÷k¾ MkwÄeLke ÔÞks{wõík ÷kuLk ykÃkðk{kt ykðu Au. íkksuíkh{kt Mkhfkhu
¾uzqíkkuLke ÔÞkÏÞk rðMíkkheLku íku{kt ðÄw fkuLkku Mk{kðuþ fÞkuo Au ?
(A) {kºk {kAe{khku (B) {kºk ÃkþwÃkk÷fku
(C) LkkLkk ÔÞðMkkÞfkhku (D) {kAe{khku yLku ÃkþwÃkk÷fku

043. Mkuçke fkuLkk fk{fksLkwt rLkÞ{Lk / rLkÞtºký fhu Au ?
(A) BÞwåÞwy÷ Vtzku (B) ðuL[h furÃkx÷ Vtzku
(C) ¢uzex huxªøk yusLMkeyku (D) WÃkhkuõík ík{k{

044. 20{k ÃkþwÄLk ðMkíke økýíkhe rhÃkkuxo yLkwMkkh ð»ko 2012Lke íkw÷Lkkyu ð»ko 2019{kt ¼khík{kt økkÞLke ðMíke{kt fux÷k
xfkLkku ðÄkhku ÚkÞku Au ?
(A) 22% (B) 18%
(C) 16% (D) 14.1%

045. ¼khík Mkhfkhu fÞk ÷kufku {kxu MkwøkBÞ ¼khík yr¼ÞkLk þY fhu÷ Au ?
(A) þnuhe yLku økúk{eý økheçkku (B) rËÔÞktøk ÷kufku
(C) Mkøkeh ðÞ (D) ÞwðkLkku

046. fuLÿ Mkhfkhu þY fhu÷ ËuþLkk Mk{]æÄ MkktMf]ríkf ðkhMkkLkwt Mkthûký yLku MktðÄoLk fhðk ÓËÞ ÞkusLkk - (LkuþLk÷ nurhxus
zuð÷Ãk{uLx yuLz ykuøk{uLxuþLk){kt økwshkíkLkk fÞk MÚk¤Lke ÃkMktËøke fhðk{kt ykðe Au ?
(A) ÃkkðkøkZ (B) Ãkk÷eíkkýk
(C) îkhfk (D) y{ËkðkË

047. ¼q¾{hku yLku fwÃkku»kýÚke {]íÞwLku hkufðk íku{s ½hrðnkuýk ÔÞÂõík / fwxwtçk íkÚkk yLÞ çkk¤fkuLku yLLk Mk÷k{íke ykÃkðk
{kxu økwshkík Mkhfkh îkhk fE ÞkusLkk y{÷{kt Au ?
(A) yLLkÃkqýko ÞkusLkk (B) yLLk çkúñ ÞkusLkk
(C) fwÃkkur»kík Ãkku»ký ÞkusLkk (D) Ãkku»ký ðhËkLk ÞkusLkk
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048. ¼khík{kt, ISO ELxhLkuþLk÷ MxkLzzkoEÍuþLk ykuøkuoLkkEÍuþLk MkkÚku MktÃkfoLke fk{økehe fE ¼khíkeÞ MktMÚkk fhu Au ?
(A) çÞqhku ykuV EÂLzÞLk MxkLzoÍ (BIS) (B) EÂLzÞLk MxkLzzo EÂLMxxâqx (ISI)

(C) zkÞhuõxh sLkh÷ ykìV nuÕÚk MkŠðMkeMk (D) {kfouxªøk ELxur÷sLMk MktMÚkk (DMI)
049. Vwøkkðku yuuf ykŠÚkf Mk{MÞk Au. Lke[u sýkðu÷ VwøkkðkLkk ÷ûkýku Ãkife fÞwt / fÞkt ÷ûkýku íku{kt Mk{krðü ÚkkÞ Au ?

1. ¼kð{kt Mkíkík ðÄkhku ÚkkÞ.
2. LkkýktLke ¾heËþÂõík ({qÕÞ) ðÄíke òÞ.
3. yÚkoíktºkLkk çkÄks ûkuºkku{kt ¼kð ðÄu.
4. WíÃkkËLkLkk çkÄks MkkÄLkku hkufkE òÞ ÃkAe ðÄíke ¼kðMkÃkkxe.
(A) Võík 1, 2 yLku 3 (B) Võík 1, 3 yLku 4
(C) 1, 2, 3 yLku 4 (D) Võík 1 yLku 4

050. hkßÞ{ktÚke ÃkMkkh Úkíkk hk»xÙeÞ Äkuhe{køkkuo (LkuþLk÷ nkEðu)Lke ÷tçkkE (rf.{e.{kt) Lku yLkw÷ûkeLku [Zíkk ¢{{kt økkuXðku.
1. þk{¤kS, ®n{íkLkøkh, y{ËkðkË, ðzkuËhk, Mkqhík, ð÷Mkkz, ðkÃke
2. y{ËkðkË, ÷e{ze, [kuxe÷k, çkk{ýçkkuh, {kuhçke, Mk{r¾Þk¤e, økktÄeÄk{, ftz÷k, {ktzðe, Lkr÷Þk, LkkhkÞý Mkhkuðh
3. ¼kðLkøkh, Mkku{LkkÚk, îkhfk
4. Mkh¾us, økktÄeLkøkh, r[÷kuzk
(A) 4, 3, 1, 2 (B) 4, 1, 3, 2
(C) 2, 1, 3, 4 (D) 2, 3, 1, 4

051. ¼khíkLkk çktÄkhý{kt fE (MkLkËe) yr¾÷ ¼khíkeÞ MkuðkykuLkku WÕ÷u¾ fhkÞku Au ?
1. EÂLzÞLk yuzr{rLkMxÙuxeð MkŠðMk
2. EÂLzÞLk VkuhuMx MkŠðMk
3. EÂLzÞLk Ãkku÷eMk MkŠðMk
4. yku÷ EÂLzÞk ßÞwzeþeÞ÷ MkŠðMkeMk
(A) Võík 1, 2 yLku 4 (B) Võík 1, 2 yLku 3
(C) Võík 1 yLku 3 (D) Võík 1 yLku 4

052. ¼khíkLkk MktrðÄkLk{ktLke hkßÞÞkËe{kt yÃkkÞu÷k fkuE Ãký rð»kÞ çkkçkíku fkÞËku fhðk {kxu fkuýu fuðe heíku Xhkð fhðku
Ãkzu ?
(A) hkßÞMk¼kyu çku-ík]íkeÞktþ çknw{ríkÚke
(B) hkßÞMk¼kyu MkkËe çknw{ríkÚke
(C) hkßÞMk¼k yLku ÷kufMk¼kLke MktÞwõík çkuXf{kt MkkËe çknw{ríkÚke
(D) ÷kufMk¼kLke MkkËe çknw{ríkÚke

053. MkuLxÙ÷ rðS÷LMk fr{þLkLkk ðzk (14 LkðuBçkh 2019Lke ÂMÚkríkyu) fkuý Au ?
(A) ©e hkSðfw{kh (B) ©e hkSð økkiçkk
(C) ©e þhËfw{kh (D) ©e hkSð {nŠ»k

054. “¼khíkLke «¼wíkk yufíkk yLku y¾trzíkíkkLke hûkk fhku yLku íkuLku yûkwÛý (ò¤ðe) hk¾ku.” yk òuøkðkE þk{kt fhðk{kt
ykðe Au ?
(A) çktÄkhýLke «MíkkðLkk (B) hkßÞ Lkerík-rLkËuoþf íkíð
(C) {q¤¼qík yrÄfkh (D) {q¤¼qík Vhòu
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055. ‘hkßÞ Mk¼kLke çkuXfkuLke, hkßÞku yLku fuLÿþkrMkík «Ëuþku «{kýu Vk¤ðýeLke rðøkíkku’ çktÄkhýLke fE yLkwMkqr[{kt Ëþkoðu÷
Au ?
(A) Mkkík{e yLkwMkqr[ (B) [kuÚke yLkwMkqr[
(C) çkeS yLkwMkqr[ (D) ykX{e yLkwwMkqr[

056. ¼khíkeÞ YrÃkÞkLkwt «íkef r[nTLk ` fkuLkk îkhk çkLkkððk{kt ykÔÞwt Au ?

(A) ze. WËÞfw{kh (B) ®Ãkøk÷e ðUfiÞk
(C) ©e çkuykunh hk{{Lkkunh rMkLnk (D) {kEf÷ EðMkoLk

057. çktÄkhý Mk¼k{kt “«kYÃk Mk{eûkk Mkr{rík”Lkk yæÞûk fkuý níkk ?
(A) sðknh÷k÷ Lknuhw (B) ðÕ÷¼¼kE Ãkxu÷
(C) yÕ÷kËe f]»ýkMðk{e yGÞh (D) zkp. yktçkuzfh

058. ¼khíkeÞ çktÄkhý{kt Mk{kLkíkkLkku yrÄfkh fÞk Ãkkt[ yLkwåAuËkuÚke ykÃkðk{kt ykðu÷ Au ?
(A) yLkwåAuË 16 Úke 20 (B) yLkwåAuË 15 Úke 19

(C) yLkwåAuË 14 Úke 18 (D) yLkwåAuË 13 Úke 17

059. ‘çkÄk ÔÞÂõík Ãkqýoíkk yLku Mk{kLkYÃkÚke {kLkð Au.’ - yk rMkæÄktík .......... íkhefu yku¤¾kÞ Au.
(A) Mkkðo¼kir{fíkk (B) Mk{rüðkË
(C) Mk{ksðkË (D) ytík:r¢ÞkðkË

060. hkßÞ ÃkwLkho[Lkk yrÄrLkÞ{, 1956 Mk{Þu ¼khík{kt 14 hkßÞku yLku 6 fuLÿþkrMkík «Ëuþku níkk, su ðÄeLku yksu fux÷k
hkßÞku yLku fuLÿþkrMkík «Ëuþku ÚkE [qõÞk Au ?
(A) 21 hkßÞku yLku 11 fuLÿþkrMkík «Ëuþku (B) 25 hkßÞku yLku 9 fuLÿþkrMkík «Ëuþku
(C) 28 hkßÞku yLku 9 fuLÿþkrMkík «Ëuþku (D) 29 hkßÞku yLku 7 fuLÿþkrMkík «Ëuþku

061. ¼khík{kt õÞktfLku õÞktf Lkðk hkßÞLke {ktøkýeyku Au, su Ãkife rçknkh hkßÞ{ktÚke fÞk Lkðk hkßÞLke {ktøkýe ÚkÞu÷ Au ?
(A) nkrhík «Ëuþ (B) r{rÚk÷kt[÷
(C) çkkuzku÷ìLz (D) økkuh¾k÷ìLz

062. LkkøkrhfLkk {q¤¼qík yrÄfkhku{kt fE çkkçkíkLke Mðíktºkíkk çktÄkhý{kt {¤íke LkÚke ?
(A) nzíkk÷ fhðkLke ykÍkËe (B) rð[kh ÔÞõík fhðkLke ykÍkËe
(C) þktríkÃkqðof «ËþoLk fhðkLke ykÍkËe (D) ¼k»ký ykÃkðkLke ykÍkËe

063. ¼khík{kt Mkðkuoå[ yËk÷ík{kt fÞk rfMMkk{kt {kLkðk{kt ykÔÞwt Au fu {q¤¼qík yrÄfkhku{kt MkwÄkhk fhe þfkíkk LkÚke ?
(A) økkuÃkk÷LkLkku rfMMkku (B) fuþðkLktË ¼khíkeLkku rfMMkku
(C) yu{. Mke. {nuíkk rfMMkku (D) økku÷fLkkÚk rfMMkku

064. ¼khíkLkk çktÄkhýLkk yLkwåAuËLke Mkq[e-I Lku Mkqr[-II {kt sýkðu÷ fkÞkuo MkkÚku ÞkuøÞ òuzfkt òuzku.

 Mkqr[-I                Mkqr[-II

1. yLkwåAuË 40 a. økúk{ Ãkt[kÞíkkuLke h[Lkk

2. yLkwåAuË 41 b. fk{ {u¤ððkLkku / fhðkLkku yrÄfkh

3. yLkwåAuË 44 c. Mk{kLk Lkkøkrhf Mktrníkk

4. yLkwåAuË 48 d. ¾uíke yLku ÃkþwÃkk÷LkLkku rðfkMk
(A) 1 - b,  2 - a,  3 - d,  4 - c (B) 1 - a,  2 - b,  3 - c,  4 - d
(C) 1 - d,  2 - c,  3 - b,  4 - a (D) 1 - c,  2 - d,  3 - a,  4 - b
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065. ¼khíkeÞ çktÄkhý{kt ‘yðrþü yrÄfkhku’ þwt Au ?

(A) su yrÄfkh hkßÞ Mkqr[{kt Mkk{u÷ Au. (B) su yrÄfkh Mkt½ Mkqr[{kt Mkk{u÷ Au.

(C) Mk{ðíkeo Mkqr[{kt yrLkrùíkíkk (D) íku yrÄfkh su fkuEÃký Mkqr[{kt Mkk{u÷ LkÚke.

066. Lke[uLkk Ãkife fÞk hkuøkkuLke fkuE hMke þkuÄkE LkÚke ?

(A) MðkELk ^÷q (B) zUøÞw (Dengue)

(C) [efLk økwrLkÞk (Chikungunya) (D) WÃkhkuõík Ãkife (B) yLku (C)

067. LÞwxÙkuLkLke þkuÄ fÞk ði¿kkrLkfu fhe níke ?

(A) Úkku{MkLk (B) YÚkhVkuzo

(C) rLkÕMk çkkunh (D) [ìzrðf

068. ÚkkEhkuEz, fku÷uhk, xe.çke. yLku yuLÚkúuõMk hkuøkku þkLkk îkhk Vu÷kÞ Au ?

(A) ðkÞhMk (B) çkuõxuheÞk

(C) Vqøk îkhk (D) «Sðku îkhk

069. «kusuõx ÷qLk þwt Au ?

(A) rLk:þwÕf ELxhLkux MkwrðÄk Ãkqhe Ãkkzíkku «kusuõx

(B) ¼khíkeÞ rðãkÚkeoykuLku MkMíkk Ëhu ÷uÃkxkuÃk Ãkqhk ÃkkzðkLkku «kusuõx

(C) yðfkþ{kt Vwøøkkyku AkuzeLku íkuLkk {kæÞ{Úke ELxhLkux MkwrðÄk Ãkqhe Ãkkzíkku «kusuõx

(D) økúk{eý ykçkkËe {kxu yãíkLk Lkuxðfo ÃkqY Ãkkzíkku «kusuõx

070. Mk{wÿLke ytËh hnu÷k ¾zfku, þe÷kykuLkku ÏÞk÷ fÞk WÃkøkúnLke {ËËÚke ykðu Au ?

(A) {u½k xÙkurÃkõMk (B) RISAT

(C) SARALSAT (D) swøLkw

071. ¢kÞkusurLkf yuÂLsLk #Äý íkhefu fkuLkku WÃkÞkuøk fhu Au ?

1. «ðkne nkEzÙkusLk

2. «ðkne ykuÂõMksLk

3. «ðkne LkkExÙkusLk

(A) Võík 1 yLku 2 (B) Võík 2 yLku 3

(C) Võík 1 (D) 1, 2 yLku 3

072. rðãwík WòoLkwt Þktrºkf Wòo{kt YÃkktíkhý fhðk {kxu fÞwt MkkÄLk ðÃkhkÞ Au ?

(A) E÷uõxÙef sLkhuxh (B) E÷uõxÙef {kuxh

(C) E÷urõxÙf EMºke (D) E÷uõxÙef ykuðLk

073. Lke[u Ëþkoðu÷ r{©Äkíkwyku Ãkife fE r{©Äkíkw íkhefu økýkíke LkÚke ?

(A) MxuELk÷uMk Mxe÷ (B) rÃk¥k¤ (çkúkMk)

(C) fktMkw (Bronze) (D) fkpÃkh

074. MkqÞo{tz¤{kt yuf s yuðku fÞku økún Au fu su MkqÞoLku Vhíku çkeò økúnkuLke rðYæÄ Ãkrh¼ú{ý fhu Au ?

(A) þw¢ (B) {tøk¤

(C) þrLk (D) økwY
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075. {Lkw»ÞLkk Ãkk[Lkíktºk{kt rÃk¥kLkku Mºkkð þhehLkk fÞk ytøk îkhk ÚkkÞ Au ?

(A) MðkËw®Ãkz (B) Þf]ík

(C) LkkLkw yktíkhzwt (D) sXh

076. ykøkk{e ÃkuZeLku MðåA yLku ÷e÷w ÃkÞkoðhý ÃkwLk: MÚkkrÃkík fheLku Ãkhík ykÃkðkLkk íku{s ÷kufku yLku rðãkÚkeoykuLku s¤ðkÞw
ÃkrhðíkoLk yLku ø÷kuçk÷ ðkì‹{øk ytøku MktðuËLkþe÷ çkLkkððk ¼khík Mkhfkhu þY fhu÷w yr¼ÞkLk fÞwt Au ?

(A) økúeLk økwz zezTMk yr¼ÞkLk (B) Ãkt[þÂõík fLðuLþLk

(C) Ãkt[ðxe ÞkusLkk (D) økúk{ WËÞÚke ¼khík WËÞ yr¼ÞkLk

077. hkßÞku yLku fuLÿþkrMkík «ËuþkuLku ¼khík Mkhfkh îkhk ç÷q ̂ ÷uøk ykÃkðk{kt ykðu Au. yk ^÷uøk fE «ð]r¥k MkkÚku Mktf¤kÞu÷
Au ?

(A) LkËeykuLkwt þwÂæÄfhý (B) MðåA çke[Lke ò¤ðýe

(C) ÃkkýeLke þwæÄíkk (D) ¼qM¾÷LkLkku yÇÞkMk

078. fkuE hf{ MkkËk ÔÞksu 35% ÷u¾u fux÷k ð»ko{kt 8 (ykX) økýe ÚkkÞ ?

(A) 20 ð»ko (B) 18 ð»ko

(C) 22 ð»ko (D) 25 ð»ko

079.
343 343 343 113 113 113
343 343 343 113 113 113

    
    

  

  
Lke ®f{ík þkuÄku.

(A) 260 (B) 230
(C) 240 (D) 330

080. yuf MktÏÞkLku ykX økýe fhe, íku MktÏÞk W{uhíkkt 450 ÚkkÞ Au. íkku íku MktÏÞk fE Au ?
(A) 60 (B) 40
(C) 50 (D) 70

081. Lke[u ÷¾u÷e ©uýe{kt «&™kÚko (?) r[nTLk {kxu fE MktÏÞk ykðþu ?
576, 569, 555    ?    , 506
(A) 520 (B) 550
(C) 505 (D) 534

082. fkuE hf{ Ãkh 5% ðkŠ»kf ÔÞksLkk ËhÚke 3 ð»ko yLku 4 ð»ko{kt {¤íkk MkkËk ÔÞks{kt Yk. 42/- Lkku íkVkðík Au íkku íku fE
hf{ nþu ?

(A) Yk. 210 (B) Yk. 280

(C) Yk. 750 (D) Yk. 840

083. yuf ËwfkLkËkh ÃkkuíkkLke Mkkzeyku Ãkh ¾heË ®f{íkÚke 20% ðÄkheLku ÷uçk÷ ÷økkzu Au íkÚkk 10% ðxkð ykÃkeLku Mkkzeyku
ðu[u Au, íkku íkuLku LkVku fux÷k xfk Úkþu ?
(A) 18% (B) 12%
(C) 8% (D) 10%

084. yuf hu÷økkze 50 {exh ÷ktçkk Ã÷uxVku{oLku 14 Mkuftz{kt ÃkMkkh fhe ÷u Au yLku Ã÷uxVku{o Ãkh W¼u÷e yuf ÔÞÂõíkLku 10
MkufLz{kt ÃkMkkh fhe ÷u Au, íkku hu÷økkzeLke ÍzÃk þwt nþu ?

(A) 24 rf.{e./f÷kf (B) 36  rf.{e./f÷kf

(C) 40  rf.{e./f÷kf (D) 45  rf.{e./f÷kf
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085. yuf Ãkheûkk{kt 1000 rðãkÚkeoyku yLku 800 rðãkÚkeoLkeyku níke, su{ktÚke 60% rðãkÚkeoyku yLku 50% rðãkÚkeoLkeyku ÃkkMk
ÚkÞk. su ÃkheûkkÚkeoyku LkkÃkkMk ÚkÞk íkuLke xfkðkhe sýkðku.
(A) 46.4% (B) 48.4%
(C) 44.4% (D) 49.6%

086. yuf ÔÞÂõíkyu Yk. 10,800/- íkuLkk ºký MktíkkLkku{kt 3:4:5 Lkk «{ký (Ratio){kt ðnU[ýe fhu Au. çkeòu Ãkwºk Yk. 1000/-
ÃkkuíkkLkk {kxu hk¾u Au yLku Yk. 600/- íkuLke ÃkíLkeLku ykÃku Au. yLku çkkfeLke hf{ çku Ãkwºkeyku ðå[u 11:9 Lkk «{ký (Ratio){kt
ðnU[e Ëu Au, íkku «Úk{ ÃkwºkeLku fux÷e hf{ {¤þu ?

(A) Yk. 1000 (B) Yk. 1050

(C) Yk. 1100 (D) Yk. 1150

087. ‘yu’ yLku ‘çke’ ÄtÄk{kt ¼køkeËkh Au, ‘yu’ Yk. 35,000/-, 8 {kMk {kxu yLku ‘çke’ Yk. 42,000/-, 10 {rnLkk {kxu hkufký
fhu Au. ÄtÄkLkk fw÷ Yk. 31,570/- Lkk LkVk{ktÚke ‘yu’Lkk ¼køku fux÷e hf{ {¤þu ?

(A) Yk. 9,471/- (B) Yk. 12,628/-

(C) Yk. 18,040/- (D) Yk. 18,942/-

088. òu 36 {kýMkku yuf fk{ 25 f÷kf{kt ÃkqYt fhe þfu Au. íkku íku fk{ 15 {kýMkku fux÷k f÷kf{kt ÃkqYt fhþu ?

(A) 40 f÷kf (B) 50 f÷kf

(C) 80 f÷kf (D) 60 f÷kf

089. yuf ðuÃkkhe 150 Yk.Lke ®f{íku {k÷ ¾heËu Au, íkuLkk WÃkh ðÄkhkLkku ¾[o {q¤ ®f{ík WÃkh 12% ÷køku Au, íkku ÃkAe íkuýu
10% LkVku f{kððk fux÷e hf{{kt íku {k÷ ðu[ðku òuEyu ?

(A) Yk. 184.80 (B) Yk. 185.80

(C) Yk. 187.80 (D) Yk. 188.80

090. Lke[uLke ÷kûkrýfíkkykuLku ykÄkhu r{MkkE÷Lke yku¤¾ fhku.

1. ¼khíkLke MðËuþe çkLkkðxLke ‘VkÞh yuLz Vøkuox’ yuLxe xuLf økkEzuz r{MkkE÷ Au.

2. s{eLk ÃkhÚke ÷kìL[ Úkíke yk r{MkkE÷Lke huLs 500 {exhÚke 4 rf.{e. MkwÄeLke Au, ßÞkhu nðk{ktÚke ÷kìL[ Úkíke yk
r{MkkE÷Lke huLs 7 rf.{e. Úke 10 rf.{e. MkwÄeLke Au.

(A) yMºk (B) çkúñkuMk-2

(C) ykfkþ (D) Lkkøk

091. MktÞwõík MkiLÞ yÇÞkMk çkkuÕz fwYûkuºk 2019 ¼khík yLku .......... Ëuþ ðå[u ykÞkuSík ÚkÞu÷ níkku.

(A) ®MkøkkÃkwh (B) ©e÷tfk

(C) çkktø÷kËuþ (D) ykìMxÙur÷Þk

092. MfkìŠÃkÞLk ©uýe (õ÷kMk)Lke Mkçk{heLk INS ðu÷k MktË¼o{kt Lke[uLkk rðÄkLkku Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt
Au ?

1. INS ðu÷k yu MfkìŠÃkÞLk õ÷kMkLke Ãkkt[{e Mkçk{heLk Au.

2. íkuLkwt rLk{koý {wtçkELke {Íøkktð zkpf rþÃk rçkÕzMko r÷. îkhk {uf ELk EÂLzÞk «kusuõx ytíkøkoík ÚkÞwt Au.

3. 6 {u, 2019 Lkk hkus {wtçkE ¾kíkuÚke yk Mkçk{heLk ÷kìL[ fhðk{kt ykðe Au.

(A) Võík 2 yLku 3 (B) Võík 1 yLku 2

(C) Võík 1 yLku 3 (D) 1, 2 yLku 3

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



AKJ  - MASTER ] 12 [Contd.

093. ¼khíkeÞ ðkÞwMkuLkkLkk «Úk{ {rn÷k ykuÃkhuþLk÷ VkExh ÃkkE÷x Lke[uLkk Ãkife fkuý Au ?

(A) Mkw©e yðLke [íkwðuoËe (B) Mkw©e {kunLkk ®Mk½

(C) Mkw©e ¼kðLkk fktík (D) ÷u^xLkLx rþðktøke

094. Lkðe rËÕne ¾kíkuLkk ¼khíkLkk «Úk{ hk»xÙeÞ ÞwæÄ M{khf{kt y{h sðkLkkuLkk «ríkf MðYÃku ‘y{h ßÞkuík’Lkk Vhíku Lke[u
sýkðu÷ [kh [¢ku Ãkife fÞk [¢Lkku Mk{kðuþ Úkíkku LkÚke ?

(A) y{h [¢ (B) Ãkh{ðeh [¢

(C) ðehíkk [¢ (D) íÞkøk [¢

095. íkksuíkh{kt ¼khíkLkk fÞk hkßÞLke Mkhfkh îkhk þrnË MkirLkfkuLkk ÃkrhðkhsLkkuLku yÃkkíke ykŠÚkf MknkÞ Yk. 25 ÷k¾Úke
ðÄkheLku Yk. 1 fhkuz fhðk{kt ykðe Au ?

(A) Ãktòçk (B) hksMÚkkLk

(C) {nkhk»xÙ (D) {æÞ«Ëuþ

096. íkksuíkh{kt fÞk çku {rn÷k MksofkuLku MktÞwõík heíku 2019 Lkku {uLk çkqfh «kEÍ yuLkkÞík ÚkÞku Au ?

(A) Mkw©e {køkkohux yuxðqz yLku Mkw©e çkuLkkorzLk yuðrhMxku

(B) Mkw©e {køkkohux yuxðqz yLku Mkw©e ykuÕøkk íkkufkzoÍwtf

(C) Mkw©e {køkkohux yuxðqz yLku Mkw©e çkúuLx÷e yLkuoMx

(D) WÃkhkuõík Ãkife fkuE Lknª

097. økwshkíkLku õÞkt MkwÄe{kt ¼khíkLkk xku[Lkk Ãkkt[ xwrhÍ{ zuÂMxLkuþLk{ktÚke yuf çkLkkððk {kxu økwshkík Mkhfkh îkhk ð»ko
2015-20 {kxu Lkðe «ðkMkLk Lkerík íkiÞkh fhðk{kt ykðe Au ?

(A) 2022 (B) 2025
(C) 2024 (D) 2028

098. ¼khík MkhfkhLkk huÕðu {tºkk÷Þ îkhk ‘MðåA huÕðu MðåA ¼khík 2019’ Lkk{Úke ÚkÞu÷ huÕðu MðåAíkk Mkðuo{kt hksMÚkkLkLkk
fÞk ºký huÕðu MxuþLkkuLkku Mk{kðuþ ÚkkÞ Au ?

(A) sÞÃkwh, òuÄÃkwh, ys{uh (B) sÞÃkwh, çkkz{uh, òuÄÃkwh

(C) sÞÃkwh, òuÄÃkwh, ËwøkkoÃkwh (D) sÞÃkwh, ¼e÷ðkzk, òuÄÃkwh

099. Vuçkúwykhe 2019 Ëhr{ÞkLk Lkðe rËÕne ¾kíku ÞkuòÞu÷ ISSF þq®xøk ðÕzo fÃk 2019{kt fÞk fÞk ¼khíkeÞ ¾u÷kzeykuLku
økkuÕz {uz÷ {éÞku níkku ?

1. ©e Mkkih¼ [kiÄhe

2. Mkw©e yÃkqðeo [tËu÷

3. Mkw©e {Lkw ¼kfh

4. Mkw©e {unw÷e ½ku»k

(A) Võík 1 yLku 3 (B) Võík 1 yLku 4

(C) Võík 1, 2 yLku 3 (D) 1, 2, 3 yLku 4

100. r¢fux ðÕzo fÃk 2019 Lke VkELk÷ {u[{kt ‘{uLk ykuV Äe {u[’ fkuý ònuh ÚkÞwt níkwt ?

(A) fuLk rðr÷ÞBMkLk (B) çkuLk MxkuõMk

(C) {ux nuLkhe (D) EÞkuLk {kuøkoLk

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



AKJ - MASTER ] 1 P.T.O.

101. Sjogren’s syndrome has all except
(A) Keratitis (B) Blepharitis
(C) Conjunctivitis (D) Uveitis

102. Wegner’s granulomatosis mainly affects the following tissues except:
(A) Ear (B) Nose
(C) Lungs (D) Kidney

103. Most common cyst arising from dental tissue is
(A) Periodontal cyst (B) Dentigerous cyst
(C) Gingival cyst (D) Eruption cyst

104. Calcified tissue in teeth
(A) Dentin (B) Enamel
(C) Cementum (D) All of the above

105. Correct statement of premonitory symptoms in cardiac syncope includes
(A) Nausea, light headedness, sweating
(B) Light headedness, palpitation, Chest pain, breathlessness
(C) Confusion, hyperexcitability, olfactory hallucinations
(D) All of the above

106. Respiratory complication of connective tissue disorder in SLE includes
(A) Bronchiectasis (B) Bronchial carcinoma
(C) Pulmonary fibrosis, Vasculitic infarcts (D) All of the above

107. The facts regarding Crohn’s disease includes the following except
(A) Present with blood diarrhoea (B) extra - intestinal manifestation common
(C) more common in smokers (D) slight female preponderance

108. Commonest germ cell tumor of the ovary is
(A) Benign cystic teratoma (B) Dysgerminoma
(C) Struma ovarii (D) Carcinoid tumours

109. Most common sites of endometriosis is
(A) Ovary (B) Scars of vulva
(C) Umbilicus (D) Amputated stump of cervix

110. Which is pulse less disease
(A) Kawasaki disease (B) Poly arteritis nodosa
(C) Takayasu’s disease (D) Buerger’s disease

111. An example of tumor marker which is an oncofoetal antigen
(A) Alpha- foeto protein (B) Carcino-embryonic antigen
(C) (A) and (B) Both (D) None of the above

112. Biologically most potent Vitamin D is
(A) 25 hydroxy Vitamin D (B) 1,25 Dihydroxy Vitamin D
(C) 7 Hydrocholesterol (D) Ergosterol
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113. Find the true thing about Central Register of Homoeopathy in the original Act of CCH 1973
(A) Whose name is in part I of central register entitled to practice anywhere in India
(B) whose name is in part II of Central register can practice in any state but with prior approval

from them other than the state where enrolled.
(C) The person entitled to levy charges in respect of medicaments & other appliances or any

fees.
(D) All of the above

114. The following are True in pharmacy practice except
(A) Horn spatula should not be washed with hot water
(B) Percolator should be washed several times with hot water & using a brush
(C) Phials & glass should be washed several times with hot water & using phial brush.
(D) Tincture press should not be cleaned under running water

115. Antibodies in Idiopathic Thrombocytopenic purpura are
(A) igM (B) igG
(C) igD (D) igA

116. Philadelphia chromosome is characterized by reciprocal transloction in
(A) t (9:22) (B) t (8:14)
(C) t (22:8) (D) t (9:14)

117. Atherosclerosis primarily affects
(A) intima (B) Media
(C) Adventitia (D) Entire vessel wall

118. Sub acute bacterial endocarditis is more frequent in
(A) Atrial septal defect (B) Atheroslerotic valvular disease
(C) Chronic Rheumatic valvular disease (D) Floppy mitral valve

119. Pneumocystis carinii is
(A) Bacteria (B) Fungus
(C) Protozoa (D) Mycoplasma

120. All are causes of neoplastic lymph node enlargement except:
(A) Lymphosarcoma (B) Burkitt’s lymphoma
(C) Tularemia (D) Malignant melanoma

121. Molluscum contagiosum is caused by
(A) Papilloma virus (B) Herpes virus
(C) Pox virus (D) EB virus

122. Hyper secretion of growth hormone before puberty results in
(A) Acromegaly (B) Gigantism
(C) Cushing’s syndrome (D) Cretinism

123. The true facts about cervical rib is _______
(A) An extension of transverse process of C7 vertebra more than 2.5cm
(B) More frequently in males
(C) Fibrous type may be demonstrated radiologically.
(D) All of the above
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124. The etiological agent for Creutzfeldt-Jacob disease is
(A) HIV (B) JC virus
(C) EB virus (D) Prions

125. In which aphorism in Fifth Edition of organon Hahnemann describe about allopathy?
(A) 54 (B) 55
(C) 85 (D) 84

126. Pick out the psoric symptom
(A) Prostrated easily from mental exertion (B) Cross and irritable
(C) Better in cold open air (D) Headaches worse at night or approach of
night

127. Example of 7th observation of Kentis _______:
(A) Persons with one lung (B) Idiosyncratic persons
(C) Drug proving (D) Symptoms take the wrong direction.

128. Radial nerve is the continuation of _______ of brachial plexus
(A) Lateral cord (B) Medial cord
(C) Posterior cord (D) None of the above

129. Anatomical snuff box lies between the tendons of extensor policis longus on the ulnar side,
extensor pollicis brevis and _______ on the radial side.
(A) Extensor indicis (B) Abductor pollicis longus
(C) Extensor digiti minimi (D) Extensor carpi ulnaris

130. Which is the wrong statement
(A) Right lung has 3 lobes
(B) Left lung has 2 lobes
(C) Left lung has 9 bronchopulmonary segments
(D) Right lung has 10 bronchopulmonary segments

131. Extra pyramidal tracts includes the following except
(A) Rubrospinal tract & olivospinal tract (B) Medial & lateral reticulospinal tract
(C) Vestibulospinal & Tectospinal tract (D) Spinoolivary & Spinotectal tract

132. The largest mass of cells in each hemisphere of brain is
(A) Corpus striatum (B) Caudate nucleus
(C) Thalamus (D) Putamen

133. The contents of the anterior mediastinum
(A) Thymus gland (B) Heart
(C) Pericardium (D) Great vessels

134. Largest lymphoid organ in the body
(A) Liver (B) Spleen
(C) Adenoids (D) Pancreas

135. What among the following is true about classical conditioning?
(A) Stimulus is a specific event
(B) Response is specific
(C) Reinforcement depend upon the response
(D) (A) and (B) Both
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136. Behaviourism was developed by
(A) William James (B) John Dewey
(C) John B.Watson (D) Wilhelm Wundt

137. The vague fear experienced without knowing just what is the matter is called
(A) Conflict (B) Anxiety
(C) Frustration (D) Distress

138. What is intelligence?
(A) Over all capacity for learning and problem solving
(B) Acquired skills such as reading, writing& arithmetic
(C) Ability to do the required work in some specified vocation
(D) Ability to understand and manage the acquired knowledge

139. Bed feels too hard on lying is seen in
(A) Arnica (B) Bryonia
(C) pyrogen (D) All of the above

140. Dread of downward motion in nearly all complaints
(A) Borax (B) Asarum europium
(C) Ledum pal (D) All of the above

141. Sore and raw spots on feet, especially heel, from friction
(A) Sepia (B) Petroleum
(C) Allium cepa (D) Silicea

142. Haemorrhage, long black strings hanging from the bleeding surface
(A) Crocus sativus (B) Crotalus horridus
(C) Lachesis (D) Vipera

143. Prolapse of the rectum, immediately on attempting a passage
(A) Nux vomica (B) Podophyllum
(C) Ruta graviolens (D) Merc sol

144. Urticarea especially after violent exercise
(A) Natrum mur (B) Sulpjur
(C) Sepia (D) All of the above

145. In kent’s repertory ‘Nausea vertigo with’ is seen under the chapter
(A) Vertigo (B) Stomach
(C) Abdomen (D) Cough

146. In kent’s repertory ‘Sparks, Headache, before’ is seen under the chapter
(A) Head (B) Eye
(C) Vision (D) Vertigo

147. According to Stuart Clause, susceptibility is a state
(A) May not be increased, diminished or destroyed
(B) Potency of the medicine to be increased as susceptibility to it goes down.
(C) Only possible to cure by giving several similar medicine in succession.
(D) May be cured by one exactly similar medicine (Similimum)
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148. The third grade general symptoms are
(A) Mental generals (B) Cravings and aversions
(C) Reactions to mental environment (D) Bowel habits

149. Everything is true in Repertorisation except
(A) Totality is qualitative sum total of all symptoms in a patient
(B) Boenninghausen’s method is based on complete symptoms
(C) Boger’s method based on causative modalities, pathological generals & particulars with

concomitants.
(D) Kent’s method based mainly by generals & clinical rubrics

150. Which chapter is NOT seen in Kent’s repertory?
(A) Respiration (B) Hearing
(C) Heart (D) Ear

151. In the sixth edition of organon of medicine, “Vital force” is replaced in some aphorisms by:
(A) Vital principle (B) Vital Energy
(C) Vital sign (D) (A) and (B) Both

152. Personality theory with personality types of Sanguine, Choleric, Phlegmatic, and Melancholic
was put forward by
(A) Kretschmer (B) Sheldon
(C) Hippocrates (D) Jung

153. Find out the wrong statement in the following
(A) Stanford - Binet test is widely used individual test
(B) IQ score divided chronological age by his mental age X 100
(C) Aptitude test is used primarily to predict the future performance
(D) Down syndrome usually have IQs below 50

154. Who defined reasoning as “step wise thinking with a purpose or goal in mind”?
(A) Woods worth (B) Garrett
(C) Skinner (D) Gates

155. In study of memory, the amount of retention means
(A)  Amount learnt (B) Amount forgotten
(C) Amount learnt - Amount forgotten (D) None of the above

156. In freud’s theory of Parts of personality - id, ego & super ego roughly corresponds to
(A) Desire, reason & conscience
(B) Sex, gratification & procreation
(C) Unconsciousness, consciousness & super consciousness
(D) (B) and (C) Both

157. Important methods of collection of quantitative Data are all EXCEPT:
(A) Interview method (B) Case study method
(C) Observation method (D) Questionnaire method

158. In sampling the errors that crop up when all the units in the sample are not covered due to non-
response or non co-operation is termed:
(A) Observational error (B) Non-response error
(C) Coverage error (D) Processing error
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159. All are true about purposive sample except
(A) Is also known as restrictive sample
(B) as probability of selection of each item is done, hence known as probability sampling
(C) May be selected according to convenience of researcher - termed convenience sampling
(D) Sample allotted to a predetermined quota, is called quota sampling.

160. The three components of demographic change are all EXCEPT:
(A) Birth (B) Death
(C) Mortality (D) Migration

161. Which of the following symptom is there in Magnesia mur, Merc sol and Natrum mur in common
(A) Constipation-crumbling at the verge of the ans
(B) Leucorrhea after exercise
(C) Unable to digest milk
(D) Pains worst at night

162. “Diarrhoea, green mucous, like chopped spinach in flakes” Name the drug
(A) Belladonna (B) Chammomilla
(C) Argentum Nitricum (D) Antium Tartaricum

163. Intense itching of skin; without rash or swelling, cold water > itching but it burns & causes
trembling is seen in
(A) Sulphur (B) Ars alb
(C) Dolichos (D) Phosphorus

164. _______Will bring on the menses when Natrum mur though apparently indicated fails -
Hahnemann
(A) Pulsatilla (B) Sulphur
(C) Silicea (D) Kali carb

165. Which drug has “Rheumatism from suddenly checked diarrhoea or other secretions”?
(A) Lachesis (B) Podophyllum
(C) Abrotanum (D) Ledum Palustre

166. Hahnemann says - it acts most beneficially when patient suffers from chronic loose stool or
diarrhoea
(A) Aloe - soc (B) Merc sol
(C) Phosphorus (D) Podophyllum

167. Human fetus secretes thyroxine from
(A) 12th month of gestation (B) 24th month of gestation
(C) 28th month of gestation (D) 36th month of gestation

168. In an infant social smile develops at the age of
(A) 2 months (B) 4 months
(C) 6 months (D) 9 months

169. Find out the wrong statement about Enuresis
(A) Nearly complete bladder evacuation at wrong place & time after 5th year of life
(B) May be associated with mental retardation or spinal cord abnormalities
(C) Nearly 50 percent of cases of noctural enuresis have an organic basis
(D) May start again after dry for several months due to parent-child mal-adjustment
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170. Child kicks off the clothing even in the coldest weather is seen in
(A) Sanicula (B) Hepar sulph
(C) Sulphur (D) All of the above

171. Very forgetful in business, but during sleep dreams of what he had forgotten is seen in
(A) Selenium (B) Nux moschata
(C) Medorrhinum (D) Absinthinum

172. Bag like swelling between the upper eyelids and eyebrows
(A) Phosphorus (B) Apis mellifica
(C) Ars enicum alb (D) Kali carbonicum

173. Vertigo on closing the eyes
(A) Thuja (B) Theredion
(C) Lachesis (D) All of the above

174. In second prescription _______ are true
(A) May be a repetition of first prescription
(B) Do nothing in stand still condition, after first prescription
(C) Change the remedy whenever symptom changes.
(D) (A) and (B) Both

175. Hahnemann describe ‘idiosyncrasy’ in:
(A) Aphorism 115 (B) Aphorism 117
(C) Aphorism 211 (D) Aphorism 121

176. “The amelioration comes first and aggravation comes afterwards”. How Dr. Kent interpret
this observation?
(A) Superficial remedy (B) Palliation
(C) Patient incurable (D) All of the above

177. Any substance whose action has been authentically ascertained is :
(A) Drug (B) Medicine
(C) Remedy (D) All of the above

178. Number 40 globule means
(A) 40 globules in a line measure 10 cm. (B) 40 globules weigh 1 gm
(C) 1 globule weigh 40 mg (D) 10 globules in a line measure 40 mm

179. Who described physiological action as exactly the opposite of the curative action?
(A) J.T.Kent (B) George Vithoulkas
(C) Stuart close (D) William Boericke

180. The whole plant including the root are procuted when in flower for preparation of
(A) Aconitum napellus (B) Belladonna
(C) Chamomilla (D) Drosera

181. What is the normal value of Sodium in blood
(A) 13.5 - 14.5 meq/L (B) 135 - 145 mmol/L
(C) 120 - 140 meq/L (D) 140 - 160 mmol/L

182. The first sign of puberty is the Development of
(A) Breast (B) Pubic hair
(C) Axillary hair (D) None of the above

182
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183. In 4th degree lacerations of vagina & perineum it involves
(A) Extends through the rectal mucosa to expose the lumen of rectum
(B) Anal sphincter
(C) Perineal skin & mucus membrane but not underlying fascia & muscles
(D) Perineal skin & mucus membrane & fascia & muscle

184. All are true about premature menopause except
(A) Defined as ovarian failure occurring before the age of 45
(B) Fewer germ cell migration from the yolk sac
(C) Induction of multiple ovulation in infertility
(D) Heavy smoking

185. What are dane particles?
(A) The circulating Hepatitis B virus particle
(B) The smallest infecting agent
(C) Infective agent in HIV
(D) None of the above

186. What is wrong about Thalassemia?
(A) It is a hemolytic anaemia (B) It is an inherited disease
(C) It is due to abnormal haemoglobin (D) All of the above

187. Homoeopathy Central Council (Amendment) ordinance came in to force in
(A) April 10, 1973 (B) January 19, 2019
(C) May 18, 2018 (D) May 18, 1973

188. Eruption of permanent teeth is in the order
(A) Lower incisors, upper incisors, first molar, canines, 2nd & 3rd molar
(B) first molar, central & lateral incisors, canines & premolar then, 2nd & 3rd molar
(C) upper incisors, Lower incisors, first molar, canines, 2nd & 3rd molar
(D) canines, Lower incisors, upper incisors, first molar,

189. Pulse in which the amplitude of every second wave in pulse tracing is relatively smaller
(A) Anarcotic pulse (B) Pulsus alternans
(C) Pulsus deficit (D) Pulsus paradoxus

190. Shock characterized by sudden depression of nervous system due to extensive vasodilatation
caused by loss of vasomotor tone
(A) Anaphylactic shock (B) Cardiogenic shock
(C) Vasogenic shock (D) Neurogenic shock

191. Chloride shift is
(A) Exchange of chloride ion for Sodium ion across cell membrane
(B) Movement of chloride ions through the plasma
(C) Exchange of chloride ion for bicarbonate ion across RBC membrane
(D) The dissociation of Sodium and Chloride

192. In the brain which cells form the structural framework for neurons and control their biochemical
environment?
(A) Oligodendrocytes (B) Microglial cells
(C) Astrocytes (D) Ependymal cells
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193. In EEG normal background activity with closed eyes is
(A) Alpha Rhythm (B) Beta Rhythm
(C) Delta Rhythm (D) Theta Rhythm

194. The signs in upper motor neuron lesions are all EXCEPT:
(A) Clonus (B) Extensor plantar response
(C) Tone normal or decreased (D) Deep tendon reflexes increased

195. Which cardiac marker are released within 4-6 hours and remain elevated for up to 2 weeks
after myocardial infarction?
(A) CK (B) CK(MB)
(C) Troponins (D) LDH

196. The following are about Cones except
(A) Cones are prepared with cane sugars
(B) Cones can be prepared with egg albumin
(C) It is more sweeter than globules or pilules
(D) Size determined by the diameter of base in mm.

197. The third ventricle develop from the
(A) Telencephalon (B) Diencephalon
(C) Mesencephalon (D) Caudal tubular part of the neural tube

198. During the embryonic development which part develop from the intermediate mesoderm?
(A) Vertebra (B) Muscles
(C) Urogenital system (D) (A) and (B) Both

199. A positive ‘Romberg’s test’ indicate
(A) Cerebellar ataxia (B) Sensory ataxia
(C) Foot drop (D) (A) and (B) Both

200. ‘Visual anosognosia’ is
(A) Inability to recognize faces (B) Failure to recognize colors
(C) Patient denies his blindness (D) All of the above

201. The peak level of Luteinising Hormone required for ovulation
(A) 75ng/ml (B) 15ng/ml
(C) 120ng/mi (D) 140ng/ml

202. What is NOT true about Anti Mullerian Hormone
(A) It is secreted by sertoli cells in the testes
(B) It is secreted by granulosa cells in the ovary
(C) It promote the development of Mullerian system
(D) Its absence result in hermaphrodite

203. Most common site of ectopic pregnancy is
(A) Ampullary (B) Fimbrial
(C) Isthmus (D) Interstitial

204. Which of the following is having more risk in developing Breast cancer in young women
(A) Combined Oral Contraceptives (B) Progesterone only Pills
(C) Early first pregnancy (D) Late menarche
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205. The Pre Menstrual tension (PMT) does not occur in the following except in
(A) Before puberty
(B) During pregnancy
(C) After menopause
(D) On hormone replacement therapy after menopause

206. The peak incidence of endometrial cancer is
(A) Perimenopausal period (B) 55 to 70 years
(C) Below the age of 45 (D) After the age of 80 years

207. In endometriosis of recto-vaginal septum on examination, _______ can be found
(A) Red spot can be seen in the Posterior fornix
(B) Bimanual examination reveal thickening of Posterior fornix
(C) Bimanual examination reveal thickening of utero-sacral ligaments
(D) All of the above

208. Which is the most appropriate meaning of the abbreviation ‘H.S.S’ ?
(A) At bed time (B) As and when necessary
(C) To be taken at bedtime (D) At night if necessary

209. Fluxion potency is a process where
(A) 6x potency is converted to 8x potency by trituration
(B) 6x potency is converted to 8x potency by succussion
(C) 3c potency is converted to 6c potency by Triturition
(D) 6x potency is converted to 6c potency by succussion

210. Which part of Beriberis vulgaris is used to prepare Homoeopathic medicine
(A) Whole plant (B) Fresh young roots
(C) Stem and leaves (D) Bark of the roots

211. First Homoeopathic Pharmacopeia was published in
(A) 1962 (B) 1971
(C) 1974 (D) 1978

212. When does the manubrium fuses with the body of sternum?
(A) 10 years of age (B) 18 years of age
(C) After birth (D) After 60 years of age

213. Choose the true one with regard to post-mortem changes
(A) Magets are produced in 5 to 6 days which have proteolytic enzymes.
(B) In 72 - 96 hours the subcutaneous tissues become emphysematous.
(C) Liquid brain comes out in children through sutures in 2 days.
(D) After 2 to 3 days post mortem delivery of the foetus may take place.

214. What is true about ethical negligence on the part of a doctor?
(A) It is the violation of code of medical ethics
(B) No financial compensation is payable unless there is also civil negligence
(C) If proved the name of the doctor may be erased from the medical register
(D) All of the above
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215. In identification of sex according to Krogman how much is the degree of accuracy in sexing
adult skeletal remains if entire skeleton is available?
(A) 100% (B) 95%
(C) 75% (D) 50%

216. What is NOT true about suicidal wounds?
(A) At high level,above the thyroid cartilage
(B) Hesitation cuts present
(C) Defence wounds present
(D) Carotid artery usually escape injury

217. All are true regarding the popliteal artery except
(A) Is the deepest structure in the popliteal fosae
(B) More prone to aneursm
(C) In coarctation of aorta its pressure is lower than the brachial pressure
(D) None of the above

218. True statement regarding venomous snakes are
(A) Viper venom is neurotoxic (B) Cobra venom is Haemotoxic
(C) The pupil of cobra are round (D) All of the above

219. Which is a probable post-mortem sign of still birth in infants?
(A) Gross edema of lungs
(B) Distention of large bowel with meconium
(C) Fully expanded lobes of the lungs
(D) Pulmonary atelectasis

220. In case of criminal abortion the doctor’s duties are all EXCEPT:
(A) Immediately inform the police
(B) Must ask her to make a statement about the induction of criminal abortion
(C) Must treat her to the best of his ability
(D) If her condition is serious must arrange to record the dying declaration

221. What is true about severe acute respiratory syndrome (SARS)
(A) Is a communicable viral disease
(B) Caused by new strain of corona virus
(C) It is capable of causing death as many as 10% case
(D) All of the above

222. The following feature helps to differentiate Hirschsprung disease from functional constipation
(A) Onset of symptoms is beyond 1 year of age
(B) Abdomen not distended
(C) On per rectal examination, empty rectum with gush of stools on removing the finger
(D) Barium enema shows rectum larger than sigmoid

223. In obese class II, the BMI will be
(A) > 50 (B) 30.00 to 34.99
(C) 35.00 to 39.99 (D) 40 to 44.99
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224. Which drug has the symptom “violent colic, sensation as if abdominal wall was drawn as if by
a string to the spine”?
(A) Ledum palustre (B) Plumbum metallicum
(C) Colocynthis (D) Amyl nitrosum

225. Which drug is indicated in hyperemesis gravidarum with the following symptoms: “Vomiting,
face bathed with cold sweat; profuse salivation”
(A) Ipecacunha (B) Lobelia inflata
(C) Arsenic slb (D) Veratrum alb

226. Diarrhoea, green mucous, like chopped spinach in flakes; turning green after remaining in
diaper: “which drug is indicated?
(A) Chamomilla (B) Belladonna
(C) Argentum nitricum (D) Ipecacunha

227. Irritability of Chamomilla depicted by C. M. Boger in his synoptic key is
(A) Frantic irritability, snappish & intolerant of pain
(B) Active, angry & impatient; can’t stand pain
(C) Anger; easily vexed; < pain
(D) All of the above

228. Which drug have Stitching cutting pain from left kidney following course of ureter into bladder
and urethra:
(A) Berberis vulgaris (B) Tabacum
(C) Bryonia alba (D) (A) and (B) Both

229. Intolerable pressive pain in eye balls, could not turn the eye without turning the body
(A) Spigelia (B) Ruta graviolennce
(C) Natrum mur (D) Symphytom

230. Always feels better by walking slowly about, although weakness obliges the patient to lie down-
is seen in
(A) Lobelia (B) Ars alb
(C) Camphor (D) Ferrum met

231. In which drug you will find “Patient better when kept busy”
(A) Arnica (B) Helonias
(C) Calcarea phos (D) Rhus tox

232. Select the false statement
(A) Carbo veg and Kali carb are mutually complementary
(B) Lycopodium is complementary to Calcarea carb
(C) Sulphur is a good follow up after Calcarea carb
(D) Apis mellifica is inimical to Rhus tox

233. What among the following is WRONG about sarcoma?
(A) Malignant tumour of connective tissue
(B) Usually affect older age group
(C) They mainly disseminate by blood stream
(D) Sarcomatous cells produce similar tissue from which they originate
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234. The unsafe of varieties of chronic suppurative otitis media is
(A) Tubo-tympanic type (B) Attico antral disease
(C) Tuberculous otitis media (D) All of the above

235. What is NOT TRUE about Ewing’s tumour?
(A) It is a tumour mainly affects long bones
(B) The tumour originates from the medulla of the metaphysis
(C) Seen as onion like appearance in X-ray
(D) The swelling is warm and tender and has ill defined margin.

236. X-ray of a patient with back pain showed destruction of the bodies of the adjacent vertebrae
with an intact inter-vertebral space. The diagnosis is most likely to be:
(A) Pott’s disease (B) Secondary deposits spine
(C) Spondylosis (D) IVDP

237. Find out the exception in regard to Retinitis pigmentosa
(A) Autosomal recessive - most common
(B) Bilateral equal involvement
(C) Day blindness may occur before the retinal changes appear.
(D) Tubular vision in advanced cases.

238. The fertilizable life span of Sperm ranges from
(A) 12 to 24 hours (B) 24 to 48 hours
(C) 48 to 72 hours (D) 72 to96 hours

239. Mark the wrong statement
(A) Perception of active fetal movements by the women is termed ‘Quickening’
(B) Sense of relief of pressure symptoms due to engagement of presenting part is called

‘Lightening’
(C) Quickening is felt during third trimester
(D) Quickening is felt 2 months earlier in multiparae

240. in pueperal infection following are true except
(A) Postpartum infection of genital tract
(B) Usual organism are not the normal inhabitants of vagina
(C) An index of incident of pelvic infection is fever in pueperium.
(D) May be polymicrobial nature

241. Pregnancy induced hypertension is the hypertension that develops as a direct result of the gravid
state, which include:
(A) Gestational hypertension (B) Pre-eclampsia
(C) Eclampsia (D) All of the above

242. The first stage of labour is considered prolonged when the duration is more than:
(A) More than 3 Hours (B) More than 5 Hours
(C) More than 6 Hours (D) More than 12 Hours

243. What is WRONG about APGAR score of new born?
(A) Apgar score is related to the status of oxygenation of the fetus at or immediately after birth
(B) Majority of Long term neurological correlation is obtained at 5 minute score.
(C) 75 % children who develop cerebral palsy (CP) have abnormal Apgar score at birth
(D) Majority of children born with an Apgar score >4 by 10 minutes do not develop CP
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244. The wrong statement about cough is
(A) Evoked by irritation of nasal mucosa
(B) Is viewed as a protective reflex
(C) Cough reflex is depressed in an unconscious patient
(D) First step is a deep inspiration

245. Which organelle is called ‘Post office of the cell’?
(A) Lysosomes (B) Mitochondria
(C) Golgi apparatus (D) Ribosomes

246. The correct statement about cori’s cycle is
(A) Glucose is converted to lactate in muscle.
(B) Won Nobel prize for this finding by Carl cori & Gerty cori
(C) To prevent lactate accumulation body utilises cori cycle
(D) All of the above

247. Water intoxication can occur in all EXCEPT:
(A) Heart failure
(B) Renal disorders
(C) Hypo secretion of Anti diuretic Hormone
(D) If consume 8 litres regularly everyday

248. The following are true about neuron except
(A) The cell body has elongated extension of cytoplasm
(B) Basic & signal processing unit of nervous system
(C) Dendrites receive messages from axon
(D) Neurons transmit & process information across synapse both ways

249. Which of the blood cells have the least life span?
(A) Neutrophils (B) Eosinophil
(C) Monocytes (D) Lymphocytes

250. What are CD4 cells?
(A) Helper T cells transformed from T Lymphocytes
(B) Cytotoxic T cells transformed from T Lymphocytes
(C) Activated B lymphocytes
(D) None of the above

251. Pancreatic juice contain all enzymes except:
(A) Pepsin (B) Trypsin
(C) Chymotrypsin (D) Carboxypeptidases

252. In which segment of the renal tubule, the fluid is Hypertonic to plasma?
(A) Thick descending segment (B) Thick ascending segment
(C) Distal convoluted tubule (D) (A) and (C) Both

253. Sensory receptors for crude touch are
(A) Meissner corpuscle (B) Pacinian corpuscle
(C) Merkel disc (D) Ruffini end bulb
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254. The incorrect statement regarding energy malnutrition (PEM) is
(A) Major health & nutrition problem in India
(B) Rate of low height for age reflects undernutrition even before birth
(C) About 5% children in developing world have low height for their age.
(D) Greater frequency of low weight for height often reflects current severe undernutrition or
disease.

255. Adrenal cortex contain _______ % cholesterol
(A) 15% (B) 10%
(C) 2% (D) 0.2%

256. Correct statement about Kussumal’s breathing are the following except
(A) Noisy breathing found in comatose and dying patients
(B) Found in diabetic coma, uraemia and cerebral tumor
(C) Hyper ventilation being a conspicuous feature of metabolic acidosis
(D) Found in some cases of acute alcoholism

257. In differential cyanosis where hands are blue and feet red is seen in
(A) Coarctation of aorta with transposition of great vessels
(B) Bronchiectasis
(C) Patent ductus arteriosus
(D) PDA with reversal of shunt due to pulmonary hypertension

258. Causes of Infectious mononucleosis SYNDROME
(A) Epstein –Barr virus (B) Cytomegalo virus
(C) HIV-1 primary infection (D) All of the above

259. The following infections are caused by Streptococcus, Except
(A) Folliculitis (B) Cellulitis
(C) Erysipelas (D) Impetigo

260. Causes of clubbing may be true in all except:
(A) Congenital cyanotic heart diseases (B) Normal in some people
(C) SLE (D) Bronchiectasis

261. What is Wrong about ventricular ectopic beats
(A) The pulse is irregular with missed beats (B) QRS complexes are broad and bizarre
(C) They produce high stroke volume (D) Patient may be asymptomatic

262. Anomalies in Tetralogy of Fallot
(A) Pulmonary stenosis,Right ventricular hyertrophy,Ventricular septal defect & Overriding

aorta
(B) Aortic stenosis, Right ventricular hyertrophy, Ventricular septal defect & Overriding aorta
(C) Pulmonary stenosis, Left ventricular hyertrophy, Ventricular septal defect & Overriding

aorta
(D) Pulmonary stenosis, Left ventricular hyertrophy, Atrial septal defect & Overriding aorta

263. X-ray chest of a patient showed sharply defined edge of the lung with complete translucency
between this and chest wall with some mediastinal displacement. Most probable diagnosis is
(A) Large emphysematous bulla (B) Pneumothorax
(C) Massive pleural effusion (D) Large enhancing lung tumour
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264. Find the wrong statement about stature
(A) Stature is less in the afternoon & evening
(B) Stature varies at different times of the day by 1.5 - 2cm
(C) Stature is lesser by 1 - 3 cm on lying.
(D) Both malnutrition & advancing years reduce stature

265. When is platelet transfusion indicated in bone marrow failure if the patient is stable and no
serious haemorrhage?
(A) Platelet count below 50000 (B) Platelet count below 40000
(C) Platelet count below 20000 (D) Platelet count below 10000

266. ‘Pseudogout’ is associated with deposition of _______ crystals within the articular and hyaline
cartilage
(A) Basic calcium phosphate (B) Monosodium urate monohydrate
(C) Calcium pyrophosphate dihydrate (D) Calcium oxalate

267. Which among the following is NOT a upper motor neuron finding
(A) Increased tone with Clonus (B) Wasting of muscles
(C) Increased reflexes (D) Extensor plantar response

268. What is true about red phosphorus
(A) Have garlicky odour (B) Tasteless
(C) Highly toxic (D) Luminous in the dark

269. The rubric in kent’s repertory for easy fracture is
(A) Generalites, fractures, easy (B) Generalites, fractures, recurrent
(C) Generalites, brittle - bones (D) Extremites, fractures, long bones

270. Ebstein anomaly has the following features, except:
(A) Tricuspid valve dysplasia (B) Cyanosis
(C) Left to Right shunting (D) Tricuspid regurgitation

271. Which type of cutaneous melanoma presents as deep invasive lesion that is capable of early
metastasis?
(A) Superficial spreading melanoma (B) Lentigo malignant melanoma
(C) Nodular melanoma (D) Lentiginous melanoma

272. Extra thoracic metastatic disease is mostly found in which type of lung cancers?
(A) Squamous cell carcinoma (B) Small cell carcinoma
(C) Large cell carcinoma (D) Adenocarcinoma

273. Which is MOST correct about pernicious anemia?
(A) Due to deficiency of Vitamin B12
(B) Due to deficiency of intrinsic factor
(C) Due to atrophy of gastric mucosa from autoimmune disorder
(D) Due to deficiency of Vitamin B12 and folate

274. What is the term used to connote the period when the dependency ratio in a population declines
because of decline in fertility, until it starts to rise again because of increasing longevity?
(A) Demographic bonus (B) Population burden
(C) Demographic burden (D) Demographic transition
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275. World’s last case of Smallpox occurred in Somalia in the year
(A) 1977 (B) 1978
(C) 1980 (D) 1975

276. The true symptoms of latent syphilitic miasm are _______ except
(A) Flat of depressed nose
(B) Easy fatigability, dozes immediately on lying down.
(C) Fixed ideas
(D) Spoon shaped & paper thin nails.

277. In HIV infected person the risk of progression to AIDS is high with percentage of CD4 lymphocyte
less than
(A) 500 (B) 200
(C) 100 (D) 20

278. What is NOT true about drinking water?
(A) Presence of any fluoride in drinking water causes dental carries
(B) High nitrate content is associated with Methaemoglobinaemia
(C) Hardness of water have a beneficial effect on cardiovascular diseases
(D) Chlorination kills pathogenic Bacteria, but has no effect on spores and certain viruses

279. Hardness of water caused mainly by the following dissolved compounds EXCEPT:
(A) Calcium bicarbonate (B) Calcium sulphate
(C) Magnesium bicarbonate (D) Sodium chloride

280. All are true about inappropriately named chronic disease except
(A) By undergoing prolonged abstinence from things for support of life
(B) By exposing themselves to avoidable noxious influences
(C) Will be cured by remedies in low potencies
(D) Will disappear spontaneously under improved mode of living without medicines

281. Immunohistochemistry is a technique used to
(A) Distinguish normal cells from tumour cells
(B) Determine the specific cell lineage
(C) Distinguish malignant cells from benign cells
(D) To detect immunoglobulins

282. Gangrene in the toes and feet of an old patient is a typical example of
(A) Wet gangrene (B) Dry gangrene
(C) Gas gangrene (D) Necrotizing inflammation

283. Good pastures syndrome is an example of
(A) Anaphylactic reaction (B) Cytotoxic reaction
(C) Immune complex mediated reaction (D) Delayed hypersensitivity reaction

284. The most common source of systemic thrombo-embolism is from
(A) Aortic aneurysm (B) Pulmonary vein
(C) Heart (D) Aortic atheromatous plaques

285. Lepromin test is negative in patients with
(A) Lepromatous leprosy (B) Tuberculoid leprosy
(C) (A) and (B) Both (D) None of the above
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286. All are true about tall built except
(A) Marfan’s syndrome (B) Frohlic’s syndrome
(C) Klinefelter’s syndrome (D) Constitutional

287. Parkinson’s disease presents with all EXCEPT
(A) Rigidity (B) Bradykinesia
(C) Rest tremor (D) Athetosis

288. The commonly occurring value in a distribution of data is called
(A) Median (B) Mean
(C) Range (D) Mode

289. All are true about standard deviation except
(A) Is defined as Root Mean Square deviation
(B) Is denoted by the symbol Sigma
(C) The Square root of S.D is called “Variance”
(D) Considered as best measure of dispersion

290. The objectives of the ICDS scheme are all EXCEPT:
(A) To improve the nutritional and health status of children
(B) To reduce school drop –out
(C) To reduce mortality and morbidity
(D) To prevent child labour

291. The National tuberculosis institute is situated in
(A) Bangalore (B) Chennai
(C) New Delhi (D) Agra

292. In kent’s repertory ‘lasciviousness’ is seen under the chapter
(A) Genitalia (B) Genitalia-female
(C) Mind (D) Generalities

293. According Stuart close the living organism is acted upon or affected primarily in the following
ways
(A) Mechanically (B) Chemically
(C) Dynamically (D) All of the above

294. The word “Organon” was first used by
(A) Hahnemann (B) Lord Bacon
(C) Aristotle (D) Hippocrates

295. What is the normal serum Urea level?
(A) 15-40 mg/dL (B) 2.5-6.6 mmol/dL
(C) 2-6 mg/dL (D) 0.7-1.26 mmol/dL

296. Which of the following diseases are due to Trisomy?
(A) Down’s syndrome (B) Edward’s syndrome
(C) Patau’s syndrome (D) All of the above

297. Serum ALP increased in the following conditions EXCEPT:
(A) Osteoporosis (B) Paget’s disease
(C) Renal osteodystrophy (D) All of the above
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298. According Stuart close, with regard to ‘law of reciprocal action’ what is the right statement?
(A) All the changes are the result of reciprocal action
(B) Within living organism the reciprocal action is immediate
(C) In a Machine the reciprocal action is mediate
(D) All of the above

299. Find the wrong statement about genital fistula in women
(A) Following prolonged unsupervised obstructed labour
(B) Following difficult vaginal instrumental delivery
(C) Increasing in India inspite of obstetric care
(D) As a complication of Caesarean section

300. Discharge of blood from vagina every time the child takes the breast:
(A) Silicea (B) Bryonia alba
(C) Phytolacca (D) Calcarea carb
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